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1. REBELTHATI RS  mmEAKESSF 4 EH%
® : BaCrO, (Ksp=7x10"") z : Pbl, (Ksp=1.2x10""") & : Al(OH); (Ksp=2.7x10""%)
T:Ag:As04 (Ksp=1x1072%)
(A) ®>F>2>T (B)&>T>F>2 (C)F>%>2>T (D)F>&H>T>Z (E) T>AH>F>2

2. pode BRI X MOUL 638 RBE RS ML AT >
Hgy ==Hgq) K,=2 X 1077

Hgey* Hg? ey ==H@2" ey ~ Ko=4X10°  Rpgef [Hg™]=?

(AX (B)—X mol/L

—X (C) L x (D)-81—1X (E)ElaX
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3. BB BA N A PP - Ag+2Bg = nCq RIBA T » C ey T4 8 0ab il t 49 4o
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(A)P1>P2-n<3 (B)P1<P2:n>3 (C)P1<P2>n=3 (D)P1>P2-n>3 (E)P1<P2>n<3

C ==2B AH>=-15KJ
(A) AH3;=-35> Ki3=24

4, @425°Cer > RE A =B AH=+10KJ Ki=3 ; Ko=8

Bl F R 2A = C &y R #AH; & P47 % K A 472
(B) AH3=+35 > K3=§ (C) AH3=+25 - K3=§ (D) AH3=-25 > K3=§ (E) AH3=+5 K3=§
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(A) C(s)—f-COz(g) == ZCO(g)—174 kJ (B) N203(g) == NOz(g)-l- NO(g)—41 48 kJ
(C) 3NOy(g)+H20,) <= 2HNO3()+NOg)+251.3 kJ (D) 4NO(g)+6H20g) -+893.7 kJ = 4NH3g)+ 502
(E)2H, + O, == 2H,0 AH=-289 kJ
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6. i'/‘fr’r.'f“ ’ |2(aq)*‘—‘ |2(cc|4) ’ K= [[;(Cgh—}]' =50 ’ /z\l;;ﬁ% X ﬁ,é’)ﬂ(,ﬁ,& 100 %‘H’ ’ ‘”'E-T-i‘ﬁ‘:}}( 50 ’%“'f‘l‘i CC|4 #—HX
2(aq)

2R ABRBHAKTHREALTF L (A) ()7 x
(D) (D?-x  (E) (50 - x>

(B) (2)2-x  (C) ($)?*-x

7. 42 BaCrOus) = Ba®' (aq)+ CrOs° (aq) 89T 45 4 ¥ A Bl R BBk 2% - T804 81 @ & [Ba®'] ~ [CrO,°
N8 ?  (AFEAS o [Ba¥]~ [CrO 1344 (B)F#544  [Ba®' ] # K > [CrOS] R4 &
(C) %4  [Ba”'] # Kk - [CrO2 14/ (D)F#i44 - [Ba®] % - 12 [CrOS ] # X
(E) ##744 - [Ba™"] # X » [CrO ] 8 1s

8. ¥BEr  £2.00AFHESN » RIE SOzq+NOzg) = SO3)+NO) & F-#78F » M ehiRERA B
0.100M-~0.200M-~0.400M~0.600 M & B Zho % 2> EFH NO > F s/ 37 478569 [NO]=0.400 M ?
(A)34 (B)6.8 (C)7.2 (D)136 (E)144 mole

9. Biofifbssz Ksp=3.2x 1071 » sz 2 M2 0.78 £ AAL45% % b #k? (Ca=40, F=19)
(A)1000 # (B)500 # (C)100 # (D)50 # (E)10 4

10. #E Y AA B BB 3B - FFIRMAEAT > ARBR LZ R A3 T 2 B A %) BPac=0.60atm &
PBo=0.60atm - 32Azk ¢ 77 g AH2 » Bk & A g £ CO2 5 B 445 4£1260K > F 5] &OHE & T4
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(A)PAa=0.60atm » Pco=0.175 atm (B) PA=0.30tm > Pco=0.16 atm
(C) PA=0.60atm » Pco=0.14atm (D) PA=0.30tm > Pco=0.14 atm

Hig) +COyp+"H:04)+CO * K, =

(E) PA=0.60atm > Pco=0.33 atm

NHaeq REMMARA%  [AgT1 A5 M?2 (A)1x10% (B)2x10° (C)1x107°
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(A)THREX % 3Ag < 2B (B)20 Bk » LBRBABHST (C)FHEF > LR FHEHA
1 (D)EM e XX BRELFRFARF (E)d B Thofe Ptk > B L EH &% 5




24x107 %o B ERA RN
(A)1.6%x10° (B)3.3x10°°

EA"' OMg)Os : E‘Jé%«&rﬂ—rﬁd"”’" # 2 Osq) ,jﬁﬁi;é] £ FM?
(C)3.6x10° (D)6.6x10° (E)7.2%x107%-
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14. ¥ BET » 2NHs== N2 +3H2 > K& F#8F [NH3]=2 M [N2]J=1M > [H2]=2.4 M > F 30478 7T 4 &
& E e AR E? B
E 1 (A) (B) (C) (D) (E)
[NH3] 1 1 0 1.8 3.6
N | 2 15 | 2 1.1 0.2
[Ha] 3.4 3.9 5.4 2.7 0

15 &1@ Fe3+(aq)+SCN7(aq) ‘__\FeSCN%(aq)i—‘:F’-/@T% :Fl ’ % EJ%D&%":F'%B#[SCN—] - 0015 M s /-’7\-ﬁ-
AeA 0.015 M KSCN IKIBIR E'J_Fﬁ'vfili&_iﬁﬁﬁé’]#—%%\ﬁlﬁ ? (A):F"f%léjfﬁﬁf] (B)%fﬁz:f?@]
(C)[FeSCN*]8 X (D)[FeSCN*"18 /|» (E)[Fe>']R #

16. F 544§ En— R MM A 8.8 7 Bk E 800T - 7Rtk TE 3 do F 2 F4 ? (Ca=40)

CaCO3(==COzq+Cal) K,=190mmHg(800°C)

(A) 1% CaCO3(S)& 0.44 7, COz(g)
(D) 0.56 3, CaOs)A 4.4 51 COx

(B) 2 # CaCOgys (C)5.6 # CaO & 4.4 % COqyq
(E) 0.44 i COz R 2 ﬁ, CaCO3(5) °
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(A) N2 o Hy RBEE-FHr#R - XAa/B » Hik R fbdo B (A)

(B) I #o Hy RAEEF485%% > Xan/B > LR F B4 B(T)

(C) SOz fu O R JEiE -F4#7%% » B SOz 0 ik R4 E(F)
(D) 2NO(g)+ Ozg) == 2NOyi+Q (Q A EfE) KM T » FHBE » Lk R8Ik B(T)
(E) ZNO(g)—FOz(g)“— 2N02(g)+Q (Q léj_l-E-'fE) Ek)@é‘?‘&ﬁﬁ ) Fé{&/m}?c —E—Ji$ 4b'§(9@(?)

18. RERT > w oA HZERAHNO, B CO e RAMF RNEMBAMN F RCHEHHN - Ak
HEGRED  —ERFRSRB e THREFEREFH#SG? (ANEERT > FRANO 945 F
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NAMOEBARPT T RMGHE (DRFaRKRFHBEARKRT » LG HRGE
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20. 7 W-PAT P S K A2 40 > {74 5k ?
REBRKRBRE (C)KMEERKR > 2TFIUREBLEDRME
(E) P85 > E ~ 3% R B EAT

(A)KfEA > RFERBRER (B)KMEK » &5
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1TEETHENETHBEEMREREATKRIERE S Z MM » # AgCl: Ky=[Ag'l[CIT]=S2
(1)ngCI2 (2)Ca3(PO4)2 (3)MgNH4PO4 (4)Ag3AsO4

2. BT FIZAEPH AT ho NS K » AR T4 5 T Aa] 60 7B o 47 84L7
(X ﬁJ}? ‘-F"TQTH;%F t1 %T/JU)\ﬂ(é‘JBﬁFBﬂ 12 %Té%ﬁ'%'@Ié’Jﬁm Fsﬁ)

() 2A@aq) == Baq) (6) Aaq) = 2Bqag) (1) Ais) = A (8)2A(aqy~""B(aq)*Cyaq)

THAERTERET » MR EZRTHERAOTRS B T
FEi(a) T3, RENEH 0.2M 2 Fe(NOs); #5% 5.0 mL 52 0.002 M 2 KSCN ;2% 5.0 mL 4824
(EEBRER) -

FBR(D) : 4% 0.2 M 2 Fe(NO3); 753& 15.0 mL pon A48 KB &R 25 mL 5% o

FH(C) RAEREFE(D)ZMHREFe(NOs); ik 5.0mL» A 1R EME 0Ex T2 5 | R
pq °

FER(d) 4% 0.002M 2 KSCN & 5.0 mL 25 88(c) "2 38, X% Pminad (E/rkiomn) -

THi(e)  MAELR  EF1BERE2ERE25ELESL 075 -
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1. (1)Ky=[Ag'][Cl =4S’
(4) Koy=[Ag P[AsO T ]=278"

(2) Ko=[Ca>*][ POSTI=108S°  (3) Key=[Mg?'][NH,"] [PO,*7]=S"
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3. (9) Fe** i+ SCN ™ (s == FeSCN** o IMATEE 5 (10) 0.12M ; (11) 7.5x107*M ; (12) 50.6
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